
STYKLISTE
Side 1

MODEL UH6330

Pos. Art.nr. Betegnelse Stk. Note

001 957800410 KULSÆT(UH4520/5520/7020)   1

002 970001220 SWITCH   1

003 970801230 FELT KPL. (UH..)   1

004 970201220 KLEMMERÆKKE (UH4030)   1

005 970311300 CAPACITOR+REACTANCE   1

006 970001210 AFBRYDER (UH4030)   1

007 970311250 FORBINDINGSKABEL   1

008 960101074 RILLEKUGLELEJE   1

009 970801830 ROTOR KPL. (UH4850)   1

INC. 8,10

010 960101104 KUGLELEJE   1

011 204152010 KNÆKBESKYTTER   1

012 970102200 KABEL MED STIK (UH4030)   1

013 221213111 SKÆRM   1

014 980114292 SKILT###(980114856)   1

015 913540205 SKRUE M4X20   2

016 917005250 SKRUE M5X25   2

017 221310110 BÖJLEGREB   1

018 221145110 TRYKFJEDER   1

019 221144110 AFBRYDERBØJLE FRONT (UH4030)   1

020 980114296 SKILT   1

021 920204000 SEKSKANTMØTRIK M4   2

022 203152050 AFLASTNING (DES300)   1

023 915635164 SKRUE 3,5x16   2

024 221145120 TRYKFJEDER   1

025 221220011 GEAR KOMPLET###(222220010)   1

026 221211010 GEARSTYKKE MED AKSE   1

027 221144120 AFBRYDERBØJLE (UH4030)   1

028 920205000 MØTRIK M5   2

029 221110611 GEHAEUSESATE   1

030 221144130 KONTAKTARM (UH4030)   1

031 913540205 SKRUE M4X20   8

032 001230010 SKRUE UH5530   2

033 221233170 SEKSKANTMØTRIK M5 (UH4030)   5

034 221233141 U-PROFIL 630 MM   1

035 221233410 LISTE 400 MM   1

036 221233330 KNIVBLAD B 55cm (UH5530)   1

037 221233430 LISTE 550 MM   1

038 221233150 DISTANCESTYKKE 5###   5

039 221233160 SKRUE M5X14   5

040 220233620 OPBEVARINGSHYLSTER 55 CM   1

041 221230641 KNIV 63 CM###(957230140)   1

INC. 33-40

042 221229240 SKÆREPLADE UH5530   1



EKSPLOSIONSTEGNING
Side 1

MODEL UH6330


